Fifth Grade Weekly Homework Sheet 11                                        
Name_________________________         Date    ______________________Score:  ______________________
	
	MONDAY
	WEDNESDAY 

	1.
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If the model is one unit, which decimal is represented by the shaded part?

A. 0.44

B. 0.56

C. 0.64

D. 0.65
	Which number goes into the blank to make the statement true?

                      4,76,192  <   4,578,136
        A. 7       
        B. 6

        C. 3       
        D. 8

	2. 

	      10   x   35.4   =
	      35   x   15.5  =

	3.
	                  _________

           12   ) $14.44 

	          ________

       9 ) $945.45

	4. 
	Simplify the answer.

 10 7/8  -  1/8  = _________
	Simplify the answer.

10/10  +  7/10 = ______

	5. 
	Q has 50 shells. He gives ½ of them to F. He gives 1/10 of them to N. He keeps the rest. How much does each person get?

	Order the decimals from least to greatest.

             3.5,   3.09.   3.14,   3.7

	6.
	How many quarts?
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	How many pints? 
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	7.
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Plot point (3,3)
	All sides are congruent.

The length of one side is 5.2 cm. What is the perimeter?



	8.
	Draw a number line from zero to one.


	Draw the number line from Monday and label points for 1/5, 2/5, 3/5, 4/5, 1 whole

	9. 
	Which pair of numbers best 

completes the equation?
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A   95 and 950
B   95 and 9,500
C   95 and 95,000
D   95 and 950,000
	In which number sentence does .06 make the equation true? 

F.    8 ÷ ___= 2     G.  42 ÷ ___= 7 

H.  40 ÷ ___= 5     J.  24 ÷ ___= 4


	THURSDAY
	CHALLENGE - BONUS

	Round to the nearest dollar then add.

27,762.07 + $177,577.73

     
	*** 1.  Michael was supposed to multiply a number by 5. By mistake, he divided the number by 5 instead. His answer was 5. 

What should have been the correct answer?

Answer: ____________________

	Sasha measured 0.2467 decimeter of rain in one month. She correctly rounded that number to the nearest hundredth.

               Which number is her answer?

              A 0.24

              B 0.246

              C 0.247

              D 0.25
	

	[(80 ÷ 4) + (60 – 30)] x 10


	

	Rewrite as decimals, and solve the problem.

6/10 + 7/ 10 = _______
	  **2.   What are the two least likely sums to be rolled on two regular dice? 
Answer:     ___________
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	I have 12 millions, 13 ten-thousands, 14 hundreds, 15 tens, 16 ones, 17 tenths and 18 hundredths. What number am I?


	

	KM

Meters

1

1000

3750

10500


            What is the rule?
	

	One megaton is equivalent to 1,000,000 tons. What is 1,000,000 written as a power of ten?


	   **3. Create a pattern using green, black, red, and yellow so that each color appears only once in every line of four diamonds.   (The same color must not touch. )             
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	The teacher gave a timed test to each of her students. 7 students finished two fifths of their test. 3 students finished three fifths of their test. 9 students finished the whole test.

How many fewer students finished the test than did not?
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